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The sum total of weather conditions and
variations over a large area for a long
period of time is called

(A) Weather (B) Climate
(C) Hotweather (D) Cold weather

What are the elements of the secondary
diagonal of the matrix

1 4 7
M=|2 5 8
3 6 9
(A) 7,5,3 (B) 1,5,9
(C) 4,5,6 (D) 2,5,8

Who among the following introduced
local Self-Government in India ?

(A) Lord Canning

(B) Lord Rippon

(C) Raja Ram Mohan Roy
(D) Lord Mountbatten

The most abundant gaseous element in
the atmosphere is

(A) Nitrogen
(C) Hydrogen

(B) Fluorine
(D) Chlorine

Which of the following river forms the
border between Haryana and

Uttar Pradesh ?
(A) Saraswati

(C) Yamuna

(B) Ghaggar
(D) Sahibi

The ratio between the volumes of two
spheres is 27 : 8. What is the ratio
between their surface areas ?

(A) 9:4 (B) 6:4
(C) 3:2 (D) None of these

TS F&d Y3 o Tt 31afy st Hem aifertaat
3R 3% ST % Pl SIS I hed ©

(A) HEw (B) w&aTg
(C) 3w Htom (D) fta Hraw

Afeag o 3u-faspol gk FTR 7

1 4 7
M=(2 5 8
3 6 9
(A) 7,5,3 (B) 1,5,9
(C) 4,5,6 (D) 2,5,8
1 1 o O fopee v 1 T @ -vme
wqa fera ?
(A) TS Hfm
(B) wTE frum
(C) TSIT T Higd T
(D) S HI3edeA
IS H He FATd HIEAT H T SHare
T oA ©
(A) ATEENH (B) wAINRA
(C) wrgISH (D) =
Frafafaa o @ et 7€ 2@ ik
ITICTT o HET T ST B 7
(A) Tl (B) =K
(C) ag (D) wfesht
31 gl % T%Al 1 A 27 1 8 B Ik
T SAHA o sl T ST FAT BT 7
(A) 9:4 (B) 6:4
(C) 3:2 (D) 370 T IS T
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Which of the following climatic controls is
the most important ?

(A) Latitude

(B) Altitude

(C) Pressure and wind system
(D) Continentality

Elections for the post of the President of
India takes place after every

(A) General election of the parliament
(B) Four years

(C) Five years

(D) Six years

What is the total number of seats in
Lok Sabha from Haryana ?

(A) 10 (B) 7
(C) 8 (D) 12

The Geometric mean between 7 and 28
is

(A) 11
(C) 13

(B) 12
(D) 14

Capital of Afghanistan is
(A) Kabul (B) Kandahar
(C) Herat (D) None of these

Energy in the water stored in a dam is
(A) Kinetic energy (B) Potential energy
(C) Practical energy (D) None of these

How much should a man invest in ¥ 50
shares selling at ¥ 60 to obtain an
annual income of I 900 if the dividend
declared is 15% ?

(A) T 9,000
(B) ¥ 7,500
(C) T 7,200

(D) None of these
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= # 9 e Saay-fowaes v sea
HE@qUl & 7

(A) regi

(B) =g

(C) =T« 3R arg ugfd

(D) weTEIdtrT

TR o Teufd T TS erel &
(A) THE o W I % 918
(B) =R &1 9I1g

(C) UT= |t &g

(D) BT ¥ 918

TRATON o TAThET Hi 1 T Tohe1
TEI R ?

(A) 10 (B) 7

(C) 8 (D) 12

7 3R 28 F ofter 1 safifaes wed 2

(A) 11 (B) 12

(C) 13 (D) 14
IR Sl Tt 8

(A) =g (B) haTER

(C) = (D) T8 | 1S L
Sty 7 Tfed o ° o et 2

(A) TSt St (B) feufaw =it
(C) TAfis =it (D) 370 A IS &

T 50 AT LS T 60 W &= ST 7, foha
o 3 W AT Ame ¥ 900 Bt A
IS AT 15% R ?

(A) T 9,000

(B) T 7,500

(C) T 7,200
(D) 78 | IS T
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20.

Abhinav Bindra, who won gold in 2008
Beijing Olympics, is associated with
(A) Boxing (B) Swimming
(C) Weightlifting (D) Shooting

What is the name of the garden situated
in Pinjore ?

(A) Yadavendra Garden

(B) Karna Lake Garden

(C) Rose Garden

(D) Sultanpur

Which of the following is called ‘Sunshine
Vitamin’ ?

(A) Vitamin A
(C) Vitamin C

(B) Vitamin B
(D) Vitamin D
Find the compound interest on I 5,000

for
2 years at 10%.

(A) X 1,000 (B) X 1,500

(C) ¥ 1,050 (D) None of these
‘Children’s Day’ is observed on

(A) Jan. 30 (B) Oct. 2

(C) Jan. 26 (D) Nov. 14

Who invented penicillin ?
(A) Alexander Fleming
(B) Louis Pasteur

(C) Dreser

(D) Edward Jenner

Which holy place has the same
importance as Gaya for performing post
death rituals of Ancestors ?

(A) Pehwa

(B) Asthal Bohar

(C) Kurukshetra
(D) Kameshwar

14.

15.

16.

17.

18.

19.

20.

|1t 2008 o sfifsr Hiferfies # garol vee
YT A forest 30 @ & grafeed 8
(A) TFRaTSI (B) awEht

(C) << e (D) &

fis g feq mET T am R ?

(A) TTEAE TTEA

(B) Ul ek e

(C) TS TTeA

(D) HedgL

= 3 & fordt o foarfi e 8 7

(A) FefmT (B) forerfym sft
(C) foerfim =t (D) Tt <t
10% =411 X ¥ T 5,000 T <1 a1 ol The (g

ST I

(A) T 1,000 (B) ¥ 1,500
(C) T 1,050 (D) 378 | IS e
‘st feam’ gw T wmn ST @

(A) 30 S (B) 2 TR
(C) 26 SHadl (D) 14 9ER
UfTeret =1 amfasehr fope fomam 7

(A) STAHSATE FATHT (B) TS U&=
(C) $= (D) TEHE SR
Ut & omg & fore wen Sen gew form dfted
CARCOISI I

(A) ugan

(B) 3T IeT

(C) Fea

(D) MR
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A man bought 500 shares of face value
of I10 and during the first year after
purchase receives I 400 as dividend on
his shares. Find the rate of dividend on
his shares.

(A) 8%
(C) 10%

(B) 12%
(D) 15%

Major harmful gas emitted by automobile
vehicles which causes air pollution is

(A) Carbon monoxide
(B) Methane

(C) Carbon dioxide
(D) Ozone gas

Hypertension is the term used for
(A) Increase in heart rate

(B) Decrease in heart rate

(C) Decrease in blood pressure
(D) Increase in blood pressure

What is the meaning of the Haryanvi
idiom ‘Chilam Bharna’ ?

(A) To keep ready Hookah

(B) Taking advantage from children
(C) Sweet talk

(D) Doing good work

The sum of the first ‘n’ natural numbers is
496. Find 'n’.
(A) 30
(© 31

(B) 32
(D) 33

A light-year is a unit of
(A) Time (B) Distance
(C) Velocity (D) Energy
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Teh st 10 3fehd qed % 500 IR Tlied
2 ofR wled % a8 ok o & ey § 3
3400 3 TR T ATHIY T Brell &1 3 IR
TR ATHT & T

(A) 8% (B) 12%

(C) 10% (D) 15%

1 TGNUT k1 hROT BHATAT R o gRT ScarSid
T T B R

(A) T HiAETEE

(B) faem

(C) e T3 ATFTES

(D) 3TIA |

3= T 39 hed B
(A) &ea Tl | sQE
(B) %&a Tfq § et
(C) Tora=md | et
(D) Y=g U TR
TR qETarT Tt won’ Rt R
af g ?

(A) TRT IR TG
(B) &I==ll ¥ M AT
(C) GHE &hET
(D) 3T M AT

Ife g ‘n’ ATk TRl 1 AT 496 R T,
‘n'®

(A) 30 (B) 32
(C) 31 (D) 33
TRIST-TY SHeh TS &

(A) w73 (B) =
(C) am (D) =i
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27.

28.

29.

30.

31.

32.

33.

Where Haryana’s first military school is
established ?

(A) Kunjpura
(B) Manesar
(C) Hisar

(D) Madhuban

H.C.F.of &, % and -2 is

5 10
1 5
(A) 5 (B) P
9 1
© =5 (D) 34

The view that the state is a necessary
evil is associated with

(A) Individualists (B) Anarchists
(C) Marxists (D) Sophists

The Vice President of India is elected by
(A) Members of Lok Sabha
(B) Members of Rajya Sabha

(C) Members of both Houses of
Parliament

Members of all State Legislation

(D)

In Haryana, ‘Twisted Bread (Roti Ka
Mudh Jana)’ is the sign of which of the
following ?

(A) Arrival of rain

(B) Going out from home

(C) Purchase of animal

(D) Arrival of guest at home

49 _21
? 36

(A) 84
(C) 64

(B) 12
(D) 144

The statement that the state is an ethical
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FIATOT 1 T8 TEAT S Thel Fal
TTfoq g ?
(A) FTqT
(B) HHER
(C) &R
(D) HYeH
£, 2 o & 1 weeies @
1 5
(A) 5 (B) P
9 1
(C) 10 (D) 30
TSI Toh TEvIh I8 8, I8 Hd 314 qraf-ed ©
(A) Al (B) STRaTEl
(C) wTeRiaTdt (D) FHasht
TR o SIS <l 3Tk ST AT ST 2

(A) <k AT T

(B) UST @91 43&y

(C) ©Hg o Tl W&l o daed
(D) ht U=l & faeam™ qued & vew

ghEmm # U w1 g SE1 ford o o
qoh g 7

(A) ST 3T T

(B) TR T JEAT i

(C) U] WlieH &1

(D) WEHTH WX | 37T

\/E 21
2?36
(A) 84 (B) 12
(C) 64 (D) 144
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institution which is indispensable for the
full moral development of man is
attributed to

(A) Individualists
(C) Idealists

(B) Anarchists
(D) Marxists

If X and Y are brothers, Z is sister of X, P
is brother of Q, Q is daughter of Y, how
is X related to P ?

(A) Father
(C) Brother

(B) Uncle
(D) Grand Father

Which of the following is the Haryana’s
largest sacred pond, made up of paved
from all around ?

(A) Falgu Sarovar

(B) Brahma Sarovar

(C) Kapal Mochan

(D) Sannihit Sarovar

After Jeevan gave Rs. 12 to Hamid and
Hamid gave Rs. 4 to Jeevan, both had
equal amounts with them. Who had the
smaller amount initially and by how
much ?

(A) Hameed by Rs. 16
(B) Jeevan by Rs. 4
(C) Hameed by Rs. 12
(D) JeevanbyRs. 8

A man is facing south. He turns 135° in
the anticlockwise direction and then
180° in the clockwise direction. The
direction he is facing now is

(A) North-East (B) North-West
(C) South-East (D) South-West

Which of the following district’'s border of

-7-
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IE FYA S hedl & UsT Tk Afder ger g s
T o Ui Ak T & forg stfamd 2, ==
FIhT T A STI0 ]

(A) SAfRTIH (B) STISTehATE!

(C) erevtaTet (D) wTerHaTE

I X IMY WER, ZT X T8, PIE Q
FAER, QIRY HI S A, X 1 P & 1
qarg ?

(A) T (B) =man

(C) =g (D) <
AT o1 T foeTTe, =i % © Uefeh]
EEIRC IR I EERNC TR

(A) BT HUR

(B) &I ETIM

(C) =hIT HI=H

(D) TfifEd TR

S gHie ol Siad 12 &, 31 @ 3T Sfted hl
gHIE 4 %. 31 8, d9 1 o ITH Ueh 9 ThY
TS ST &1 TR | fohteh 918 1 Tohd oft 31
Torat o oft ?

(A) THE R TETE. 169

(B) e hu@®. 49

(C) eflehums. 129

(D) SeA &% UH%. 89

U et gfaor it SR figE } | 97 amTEd
feem @ 135° Hman 7 o fX 180° afemomad
foem & goar 7 | o 92 fow foen @ sifvmga 2,
ERS

(A) I
(C) sfer-vd

(B) SW-dfyem
(D) =f&ror—ufyem
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39.

40.

41.

42.

43.

44,

Haryana is not touching the bank of
Yamuna River ?

(A) Panipat
(B) Rohtak
(C) Yamuna Nagar
(D) Sonipat

According to Aristotle

(A) State is a divine institution
(B) State is an artificial creation
(C) State is a creation of force
(D) State is natural institution

92 + 8+2="7

(A) 5.25 (B) 4.25
(C) 5.75 (D) 4.75
The term ‘city state’ is generally

associated with

(A) Ancient Egypt
(B) Ancient Greece
(C) Ancient China
(D) None of the three

Expansion of IAS is

(A) Indian Administrative Service
(B) Indian Administration Service
(C) Indian Administrator’s Service
(D) Indian Admiration Service

If all the numbers from 501 to 599 are
written, what is the total number of times
does the digit 6 appear ?

(A) 11 (B) 12
(©) 20 (D) None of these

Sonipat city is famous for which industry ?

(A) Cement

38.

39.

40.

41.

42.

43.

AT St o G, i o fefaRed ®§ 9
form foret <t el 4 et ?

(A) dHIId

(B) Ugdsh

(C) IGITR

(D) HIa

3ifeied & IR

(A) TST ek ST TEd1 3

(B) T~a T FHmM gfe ?

(C) T TA FHI gfee ?

(D) TS Ueh TATHIITh TEAT &

92 +8+2=7

(A) 5.25 (B) 4.25

(C) 5.75 (D) 4.75

‘TR TST’ IS Y16 THIG: SHY TrIf-ad ?
(A) s (B) A I
(C) =i = (D) i & =h1E e

TE.T.TH. 1 U1 foeam 2

(A) sfeam siefmffeda afda

(B) sfeam Tefufreeym afda

(C) st Sisfufeied afd

(D) 3feam oTefiRem afda

Ifg 501 | 599 T foreft STt € o, ferat

R 6 T 37 fe@rs < ?
(A) 11 (B) 12
(C) 20 (D) T & &S T
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(B) Bicycle
(C) Cotton clothes
(D) Car

Using the digits 3, 2, 5, 6, 9, how many
three digit even numbers can be made
without repetition ?

(A) 10
(C) 60

(B) 24
(D) None of these

Srinivas Ramanujan was a great
(A) Lawyer

(B) Mathematician

(C) Medical practioner

(D) Film star

Metro first reached in which city of
Haryana ?

(A) Gurgaon
(C) Faridabad

(B) Sonipat
(D) Rohtak

At which place did Lord Krishna preach
the message of Geeta to Arjun ?

(A) Panipat

(B) Jyotisar (Kurukshetra)

(C) Pandu Pindara

(D) Kapisthal

In which climate zone is rainfall low,
highly variable and undependable ?

(A) Mid latitude western continental
margin

Tropical
Humid mid-latitude
Polar

(B)
(C)

(D)

Kurukshetra’s Sthaneshwar temple was
rebuilt by whom ?

44,

45.

46.

47.
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Giiad TR forg 32 o foru aftg 2 ?
(A) famee

(B) WTSehet

(C) Heft o

(D) &K

3,2, 5, 6, 9 T IUANT L e R fohaT
T 37R! ITefl T9 TEIR SATE S Hehdl © 7

(A) 10 (B) 24
(C) 60 (D) ¥ @ IS L

q |

#fiTeTe THTESH T weH
(A) Fehie

(B) Tfvras

(C) slaX

(D) foew arfeman

BREATOT < foRd 1T | B 99d uRd
w7

(A) T (B) HHUd
(C) wieree (D) g

TS 0T A T 1 3R fohg T W
3T} 1 feam ?

(A) UHTd

(B) vEfaer (Fwar)

(C) g e

(D) hfuEere

HY STAary Hiead H a9 A, A AR
3R SAfovaafia et 2 7

(A) WHET NEATIT UTIIHT WETEIUT /AT

(B) IWrehfesreft

(C) 3T Hed-A&™

(D) g™
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51.

52.

53.

54.

55.

(A) By Raja Harshawardhan

(B) By Maratha Sadashiv Rao
(C) By Prabhakar Wardhan

(D) By Chandragupt Vikramaditya

Which of the following female
mountaineer has conquered Mount

Everest twice ?

(A) Malleshwari

(B) Santosh Yadav
(C) Mamata Kharab

(D) Sunita Sharma

Which type of climate classification
scheme uses vegetation patterns as a
prominent feature ?

(A) Tropical
(C) McClatchy

(B) Koppen
(D) Maxfield

Which of the following religious and
historical place is located in Lakhan
Majra village ?

(A) Saint Meershah Majar

(B) Manjisahib Gurudwara

(C) Shekh Nizzamudin Majar

(D) Suryakund

Which city is famous as the “City of
Weavers” ?

(A) Karnal

(B) Ambala

(C) Yamuna Nagar
(D) Panipat

Concept of permanent consumption was
introduced by

(A) Samuelson (B) Simon Kuznets
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50.

51.
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4.

FEET % TITYR AfaT 1 G0
Freafefaa o @ formeh SRy sFtamen e ?
(A) TS g¥agH g

(B) WRTST WETRIE TS FRT

(C) TR eq grT

(D) T= TarshHTIGed I

AfET gearig! fSeM 21 I ATeve T W
forsrasht wrea &t ?

(A) Hedadl

(B) H=aI¥ ITeA

(C) HHAT T

(D) gt v

TorE TeRT SRl STcTaTg A TeRtoT ASHT aEdfd
U 1 THE T % ®9 T IUNT Ll © 7
(A) RIS (B) U

(C) ekt (D) Aaadics
ARG HIST e § hiE1 eiiHeh Ta
UfereTiien Taa ® 7

(A) Td HRIME TR

(B) WS(HETEd THZRT

(C) 3@ Mg 7eIR

(D) FHFTE

‘Gl 1 e % T H AT TR
foema g ?

(A) =LA

(B) 3TeaITeT

(C) I TR

(D) uHIUa
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(C) Milton Friedman(D)Harrod

National Milk Production Research
Institute is located in which of the
following city ?
(A) Panipat
(C) Karnal

(B) Yamunanagar
(D) Faridabad

Haryana'’s first university was established
in which city ?

(A) Kurukshetra

(B) Karnal

(C) Rohtak

(D) Murthal

Speenlative demand for money is
inversely related to

(A) Rate of interest(B) Income
(C) Money supply (D) Investment

Bhagavad Gita is included in the Indian
epic

(A) Ramayana
(C) Brihadayana

(B) Mahabharata
(D) None of these
In which city Kanod’s fort is situated ?
(A) Narnaul (B) Mahendragarh
(C) Thanesar (D) Hansi

Which is the least literate district in
Haryana ?

(A) Rewari
(C) Mewat

(B) Mahendragarh
(D) Bhiwani

In Cobb-Donglas production function
elasticity of factor substitution is equal to

(A) Zero (B) Infinity
(C) One (D) Two

Sultanpur Bird Sanctuary is located in
which district of Haryana ?
(A) Gurgaon (B) Rohtak

(C) Panchkula (D) Faridabad
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Tt IUHT ShT T T S8 T 1

(A) TRYSTTER (B) HRIH FoicH
(C) faeeq wrssuy (D) e

TS T4 IeITE I T Tohd TR
Tfeme ?

(A) THTd (B) IR

(C) &ETA (D) ®eETg
giemn § yum favafoame fea wr
T g ?

(A) FoE=

(B) HETA

(C) Usgdas

(D) quI«

Y9 it srffraa 9T se@ gfdamd: gwf-oa ?
(A) SIS R (B) ™

(C) WH amgfd (D) Faw

A o 38 HeTeh1ed § STEEI{idT o1 THTaS ©
(A) THR (B) WETHRA

(C) seemH (D) T & FIE T
TS o forett forer T H feorq @ 7

(A) AT (B) We=Tg

(C) A& (D) =Tl

IO hl T W HI&TAT ATt foret
HFETR ?

(A) LETEl (B) He5TG

(C) WaTa (D) ferar

I —STAH oh 3cATE h1d H ek TAEATIT oh
A=A ATI 36k ST Bl @

(A) = (B) o=

(C) w=n (D) =
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64. Space Scientist Kalpana Chawla was

65.

born in which city ?
(A) Panipat
(C) Kaithal

(B) Karnal
(D) Gurgaon

“If an oligopolist decreases his price the
rivals will follow”. This is the basis
assumption of

(A) The kinked supply curve

(B) The oligopolistic demand curve
(C) The kinked demand curve
(D) The demand curve

Directions (Qs. 66-68) : Choose the
alternative which does not belong to the group
to which the other three belong.

66.

67.

68.

69.

70.

(A) Arjuna (B) Bheema

(C) Sahadeva (D) Duryodhana
(A) 20 (B) 19

(C) 18 (D) 16

(A) Chlorine (B) Oxygen

(C) Iron (D) Hydrogen

The first thing that primitive man learnt

was

(A) To make a wheel

(B) To domesticate animals
(C) To lead a settled life
(D) To make fire

‘Sur Esteem Reward’ is provided for
special talent of which area ?

(A) Cinema
(C) Literary

(B) Agriculture
(D) Games

63.

64.

65.

YearyR valt faer sheamn & fg fa
He?

(A) e (B) Usd®

(C) Tt (D) HEETE
A& AT Heq-T Tl Skl S0 fora
TRH BT 7

(A) THgd (B) ®HWTA

(C) (D) T

“ Ife ek STITIIERIN 79T S hH o LT 2

A 3Tk gt off 9t s 7 | I% sEeh! e
T B

(A) U315 Yfd a5

(B) TcuTfershTi |t ah

(C) UaT g1 | Tk

(D) #im %

et (v, . 66 @ 68) : TET fashed FiT S 3R

et o TE o Trfod T R |
66. (A) 3T (B) «fim
(C) wed (D) gaiem
67. (A) 20 (B) 19
(C) 18 (D) 16
68. (A) A (B) 3iifaas
(C) et (D) ®ErEgH
69. 3Tfe AH4 4 gt I8 diEn
(A) T SHMET
(B) &l =l Ut
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(C) &g Sfte ferdmn
(D) 3T U= AT
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71. 5 years ago, the average age of A, B, C
and D was 45. With E joining them now,
the average age of all the five is 49
years. How old is E ?
(A) 64 years (B) 45 years
(C) 25 years (D) 40 years
72. In which district of Haryana has a railway
workshop ?
(A) Gurgaon
(B) Sirsa
(C) Faridabad
(D) Yamuna Nagar
73. The palaeolithic man lived on
1. Hunting
2. Fishing
3. Cultivation
4. Food-gathering
Choose the correct answer group.
(A) 1,2,3 B) 1,2,4
(C) 2,3,4 (D) 1,3,4
Directions : (Qs. 74-76) : Choose the one
which does not belong to the group of other
three.
74. (A) East (B) Mouth
(C) South (D) West
75. (A) Square (B) Rhombus
(C) Triangle (D) Parallelogram
76. (A) Mother (B) Brother
(C) Father (D) Nephew
77. In which of the following respects, the

https://haryanajobs.in

various Harappan sites have marked
uniformity ?

(A) Agricultural practices
(B) Crafts

70.

71.

Field Inspector (Store)

WA qEER g & o faftre gfawn
EAR I CERED IS I

(A) T (B) Ff§

(C) wifEea (D) ©d

o= 99 @ A, B, C 3R D & 3ii|a 1 45
off | 379 390 E wfirer grar ® 3R 39 SR 34
il sl 3ftEd Y 49 TN T S © | E 3Ty
foRet @ 7

(A) 64 a4 (B) 454
(C) 2599 (D) 4099
72. g o fhe foret 4 i ST I § 7
(A) T
() fewar
(C) wiiqreTe
(D) IFATTR
73.  QOTEH A o Siia fate 3ed g o
1. ReR
2. Al
3. @t
4, F-TURT
TR T A I = T, |
(A) 1,2,3 (B) 1,2,4
(C) 2,3,4 (D) 1,3,4
fdwr : (0. 74 @ 76) : SR A F W @ ST
EIGEIRCITIE
74 (A) o (B) 48
(C) sfequr (D) dfvem
75. (A) =t (B) wHEgHs
(C) Frerm (D) THIR gt
76. (A) @t (B) s
(C) fuan (D) et
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78.

79.

80.

(C) Town planning
(D) Seals

Which letter should replace the question
mark in the following series ?

GHJM?V
(A) Q
(B) P
(C) O
(D) R

Dosi Pilgrim is located in which district ?
(A) Hisar

(B) Karnal

(C) Mahendergarh

(D) Bhiwani

The largest number of Harappan sites in
post independence India have been
discovered in

(A) Gujarat

(B) Punjab and Haryana
(C) Rajasthan

(D) N.W. Uttar Pradesh

-14-

77.

78.

79.

80.

=1 o @ form T ¥ gewn & fafy= ot |
BEIERIRIEC I G IR

(A) FNH g

(B) Tt

(C) R A

(D) ¥R

1 ofEen § woA fawg i SR i e
BT =TT, 7

GHJM?V

(A) Q

(B) P

(C) O

(D) R

@ el fopm foar o fda © 7
(A) feam

(B) h{ATA

(C) AE=TE

(D) farht

AT o 91 YA H TS o Faid 3TTereh T
DRECISKID]

(A) Tsd

(B) UwTa 3R giamom

(C) TSIH

(D) 3. 9. WIS


https://haryanajobs.in

https://haryanajobs.in

English Language

Directions : (Qs. 81-83) : You are required to
rearrange the parts labeled P, Q, Rand S to

produce the correct sentence. Choose the correct

sequence.

| have

P : any fragrance

Q : and more penetrating
R : never come across

S : that is more beautiful
(A) PQRS

(B) SRQP

(C) RQPS

(D) RPSQ

P : come to have a look at the girl
Q : the party that had

81.

82.

R : his eldest sister and a lawyer friend of

theirs
S : consisted of the boy’s parents
(A) QSPR
(B) QPSR
(C) QRSP
(D) QRPS

83. P :the postman

Q : brings letters

R : relatives and friends
S : from far off

(A) PQRS

(B) PQSR

(C) RSPQ

(D) PRQS

Directions (Qs. 84-85) : Choose the word which

is most similar in meaning to the given word :

84. Pardon
(A) Produce
(B) Excuse
(C) Sell
(D) Develop

-15-

85.

86.

Field Inspector (Store)

Mandatory
(A) Real

(B) Bravery
(C) Required
(D) Discovery

Plural of “ox” is
(A) oxes

(B) ox

(C) oxen

(D) oxus

Directions (Qs. 87-89) : Find out which part (A),

(B) or (C) of the sentence has an error. If there is

no error, your answer is (D).

87.

88.

89.

90.

The house with all its (A)/furniture and
exotic plants (B)/were sold for Rs. 60

Lakhs. (C)/No error (D).

Many a student (A)/are frustrated
(B)/because of unemployment. (C)/
No error (D).

They walked (A)/besides each other (B)/

in silence. (C)/No error (D).

Choose the alternative which best

expresses the meaning of “RAGE”.
(A)
(B)
(C)
(D)

rank
rule
care

anger
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o=t s

ot (91 iR 92) : THH 31 T AT W68 T TR
fetfau|

91.

92.

g (93 @R 94) : 3o feendss g gt faafaw

93.

94.

95.

ST

(A) =t
(B) wrfar
(C) =g
(D) =it

daredisd

(A) d=m
(B) w1
(C)
(D) AR

a1

(A) Frmm

(B) 3@

(C) gum

(D) T

L= Ibic]

(A) auEia

(B) 14H

(C) gue

(D) wHH
1%2@1%#&%%%‘
(A) =%

(B) T SR AT
(C) dH =

(D) =T
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96.

97.

98.

99.

100.

TE-sedd @Rl
(A) f

(B) 33

(C) wHema

(D) wEsfife

T ST I[E 9T 2
(A) [\ A [ T
(B) T U @t

(C) T® 3 U @R
(D) U @A

et fow T wregi H fotdi wreg w1 g
fetfau|

(A) e

(B) F=m

(C) =Faft

(D) faeam

AT 368 %1 Tga= F9 8 |
(A) wraTg

(B) =

(C) s

(D) it

Tl forvfad I e @rel! sTe R |
A
(A) =1
(B)
(C)
(D) &

TE TATR |
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